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Q.1 Answer in 2-3 lines: (any five) (05)
There is a legal ban on sex determination test of child in womb. Why?

Write the full form of NCW?

Enlist the problems faced by widows,

Describe economic abuse.

Enlist the activities conducted by Mahila madal.

What is equal pay right?

How gender equality affect the women empowerment?
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Q. 2 (A) Discuss the various roles of women in development, (06)

Q. 2 (B) Answer any three of the folowing : : . _ (09)
1. ‘Dowry is considered as a social taint.” Discuss
2. Write about any three problems faced by deserted woman.
3. Write the need of women empowerment.
4. What is the difference between woman with dependent children and unwed mothers? Discuss.

Q.3 What are the different types of violence? What are the effects domestic violence on woman? (10)

Q.4 Answer any two in detail; R o 1o
1. What is mass media? Discuss the positive and negative effects of mass media.
2. Enlist the various factors affecting reproductive health of female. Explain any three in detail.
3. How status of woman has changed in current situation? Explain. '

Q.5 (A) Illiteracy and corruption can be considered as barriers in woman’s access to various available
resources and services. Discuss with suitable example, (06)
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Q.5 (B) Discuss any two rights of the following: 05)

1. Right to streedhan
2. Right to anonymity
3. Right to dignity and respectful life

Q.6 Answer any three of the following: ' (09)

Write the activities conducted by T.K. Foundation. .

Enlist state level agencies that work for women empowerment. Write about any one in detail.
Discuss about social empowerment and technological empowerment of womer.

Discuss the functions of NCW,

What is decision making? Which factors can affect it?
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